Converting Between mL, L, and kL (A)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
] — — o

5 & ° 3 §i ig E E g £

B g T & 9, 19 8 E g g

: : ——————— : : > X

G M k h da rd ¢ m M n

9 8 7 6 5 4 3 2 1:0:i-1 2 3 -4 -5 -6 -7 -8 -9

. Convert 42750000mL to L
Convert 561 600 mL to L

Convert 81 660 000 mL to kL

Convert 0.000094 kL to mL

Convert 0.0055kL to L

Convert 0.73 L to mL

Convert 60830 mL to L

Convert 80.7kL to L

Convert 298.4KkL to L

Convert 198 700 000 mL to kL
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Converting Between mL, L, and kL (A) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
5 b 2 5 81 i3 § = 3 £
"Bh S Z =2 =i +o 8 E £ =
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 -3 4 -5 -6 -7 -8 -9
. Convert 42750000 mL to L

42750000mL +-10+10+10=42750L

Convert 561 600 mL to L

561600mL +-10-+-10+10=561.6L

Convert 81 660 000 mL to kL

81660000mL ~-10+10+10+10+10+ 10 = 81.66 kL
Convert 0.000094 kL to mL

0.000094 kL X 10 X 10 X 10 X 10 X 10 X 10 = 94 mL

. Convert 0.0055kL to L

0.0055kL X 10x10x 10 =5.5L
Convert 0.73 L to mL
0.73LX10Xx 10X 10 = 730 mL
Convert 60830 mL to L

60830 mL +- 10+ 10+ 10 =60.83L
Convert 80.7KkL to L

80.7kL X 10X 10 X 10 = 80700 L
Convert 298.4 KL to L

298.4KkL x 10X 10 X 10 = 298 400 L
Convert 198 700 000 mL to kL
198 700000 mL =-10+10+10+ 10+ 10+ 10 = 198.7kL
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Converting Between mL, L, and kL (B)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

!5'_a_s_e
5 % e § gt ig E 2 :
) g T 2 S: 15 8 E g g
: : ———t—t—t— : : > X
G M k h da 'd ¢ m M n
987654321:051-2345—6789

. Convert 2506000 mL to L

Convert 0.000108 kL. to mL

Convert 2100000 mL to L

Convert 0.00036 kL to L

Convert 61 500 mL to L

Convert 7220 000 000 mL to kL.

Convert 494200 mL to L

Convert 0.00033 kL. to mL

Convert 0.62kL to L

Convert 1.85kL to L
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Converting Between mL, L, and kL (B) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
S 2 TR 2 o
: : - : : —» X
G M k h da 'd ¢ m [ n
9 8 7 6 5 4 3 2 11011 -2 3 4 -5 6 -7 -8 -9
. Convert 2 506 000 mL to L
2506000mL =10+ 10+ 10 = 2506 L
Convert 0.000108 kL. to mL
0.000108 KL X 10 X 10 X 10 X 10 X 10 X 10 = 108 mL
Convert 2100000 mL to L
2100000 mL =-10=+10+10 = 2100 L
Convert 0.00036 kL to L
0.00036 kL x 10 X 10 X 10 = 0.36 L
Convert 61 500 mL to L

61500mL +-10+10+-10=61.5L

Convert 7220 000 000 mL to kL

7220000000mL -10+10+10+10+ 10+ 10 = 7220KkL
Convert 494 200 mL to L

494200mL +-10+10+10=494.2 L

Convert 0.00033 kL to mL

0.00033KkL X 10X 10 X 10 X 10 X 10 X 10 = 330 mL
Convert 0.62kL to L

0.62kL X 10X 10X 10 = 620L

Convert 1.85kL to L
1.85kL X10x 10X 10 =1850L
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Converting Between mL, L, and kL (C)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 g s § gt ig E 3 2
& g T 2 S: 15 8 E E g
: : ———t—t—t— : : > X
G M k h da 'd ¢ m M n
9 8 7 6 5 4 3 2 1:051-2 3 4 5 -6 -7 -8 -9

. Convert 5.9kL to L

Convert 0.0000023 kL. to mL

Convert 0.563 kL to L

Convert 4.819KkL to L

Convert 18.7 L to mL

Convert 8995000 000 mL to kL

Convert 2371000 mL to L

Convert 170 200 000 mL to kL

Convert 4420000 mL to L

Convert 37650 mL to L
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Converting Between mL, L, and kL (C) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 ¢ 2§35 i3 %% =
b E T 2 35 13 8§ E E z
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 -3 4 -5 -6 -7 -8 -9

. Convert 5.9kL to L

5.9kL X 10X 10X 10 = 5900 L

Convert 0.0000023 kL to mL

0.0000023 kL X 10X 10X 10X 10 X 10 X 10 = 2.3 mL
Convert 0.563 kL to L

0.563kL X 10x 10X 10 = 563 L

Convert 4.819KkL to L

4.819KkL x10x 10 X 10 = 4819L

Convert 18.7 L to mL

18.7L X 10X 10 %X 10 = 18 700 mL

Convert 8 995000 000 mL to kL

8995000000 mL -10+10+10+10+ 10+ 10 = 8995KkL
Convert 2371000 mL to L

2371000mL +-10=+10+10=2371L

Convert 170 200 000 mL to kL

170200000 mL -10+-10+-10+10+10+10 =170.2kL
Convert 4420000 mL to L

4420000mL +-10+10=+10=4420L

Convert 37650 mL to L

37650mL - 10+ 10+ 10 = 37.65L
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Converting Between mL, L, and kL (D)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
< o ' —_ o
cvs &0 o © 8 g B E 5 z
& z T 2 &8 18§ E z 3
: : ——————— : : > X
G M k h da rd ¢ m M n
9 8 7 6 5 4 3 2 1:0:i-1 2 3 4 -5 6 -7 8 9
. Convert 0.037 L to mL
Convert 640000mL to L
Convert 50800 L to kL
Convert 16 200000 mL to L
Convert 0.05405 kL to mL

Convert 0.0000023 kL. to mL

. Convert 0.13 L to mL

Convert 53400000 L to kL

Convert 98 100000 L to kL

Convert 0.0000069 kL to mL
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Converting Between mL, L, and kL (D) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
S %0 2 8 8 13 £ = 5 z
"Bh S Z =2 =i +o 8 E £ =
: : : : — —t : : —p X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1 E 0.-1 2 3 4 -5 6 -7 -8 9
. Convert 0.037L to mL

0.037L X 10X 10X 10 = 37mL
Convert 640000 mL to L

640000 mL +-10+10+-10=640L
Convert 50800 L to kL.

50800L =10 =10+ 10 = 50.8kL
Convert 16 200 000 mL to L
16200000 mL =-10+10+10=16200L

. Convert 0.05405 kL to mL

0.05405KkL X 10X 10 X 10 X 10 X 10 X 10 = 54050 mL
Convert 0.0000023 kL to mL

0.0000023 kL X 10 X 10 X 10 X 10 X 10 X 10 = 2.3 mL
Convert 0.13 L to mL

0.13LX10Xx10x 10 =130mL

Convert 53400000 L to kL

53400000L =10 - 10 + 10 = 53400 kL

Convert 98 100000 L to kL

98 100000L - 10 +10+10 =98 100 kL

Convert 0.0000069 kL to mL
0.0000069kL X 10X 10X 10X 10X 10x 10 = 6.9mL
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Converting Between mL, L, and kL (E)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
] — — o

5 & ° 3 §i ig E E g £

B g T & 9, 19 8 E g g

: : ——————— : : > X

G M k h da rd ¢ m 13 n

9 8 7 6 5 4 3 2 1:0:i-1 2 3 -4 -5 -6 -7 -8 -9

. Convert 0.000434 kL to mL
Convert 669 000 mL to L

Convert 0.0000099 kL to mL

Convert 607 600 000 mL to kL

Convert 720000 L to kL.

Convert 749 300 L to kL.

Convert 1.895L to mL

Convert 0.45kL to L

Convert 810000 mL to L

Convert 0.00563 L to mL
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Converting Between mL, L, and kL (E) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
5 b 2 5 81 i3 § = 3 £
"Bh S Z =2 =i +o 8 E £ =
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 -3 4 -5 -6 -7 -8 -9
. Convert 0.000434 kL to mL

0.000434 kL X 10X 10 X 10 X 10 X 10 X 10 = 434 mL
Convert 669 000 mL to L

669000mL +-10+10+10=669L

Convert 0.0000099 kL to mL

0.0000099 kL X 10X 10 X 10 X 10 X 10 X 10 = 9.9 mL
Convert 607 600 000 mL to kL,

607 600000 mL -10+10+10+10+ 10+ 10 = 607.6 kKL
Convert 720000 L to kL

720000L =10 +-10 =10 = 720kL

Convert 749 300 L to kL.

749300L =10 +-10 =10 = 749.3kL

Convert 1.895 L to mL

1.895L X 10X 10X 10 = 1895 mL

Convert 0.45kL to L

0.45kL x10x10x 10 =450L

Convert 810000 mL to L

810000mL +-10+10-+10=810L

Convert 0.00563 L to mL.

0.00563L x 10X 10X 10 = 5.63mL
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Converting Between mL, L, and kL (F)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

!5'_a_s_e
< o ' —_ o
cvs &0 o © 8 g B E 5 z
& z T 2 &8 18§ E z 3
: : ——————— : : > X
G M k h da: i1d ¢ m [ n
9876543215051-2345-6789
. Convert 130L to kL

Convert 0.08005 L to mL

Convert 533 500 L to kL.

Convert 0.000973 kL to mL

Convert 0.00319 L to mL

Convert 370000 mL to L

Convert 0.03668 kL to L

Convert 2900 000 000 mL to kL

Convert 8 820000 mL to L

Convert 0.03272 kL to mL
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Converting Between mL, L, and kL (F) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

T giga
centi

+ milli

1 nano

> X

w = 1 kilo
N = 1 hecto
& = T micro

o Q

o
w B
o B

1
\]

. Convert 130L to kL

130L +-10+10+10 = 0.13kL

Convert 0.08005 L to mL

0.08005L x 10 x 10 x 10 = 80.05mL

Convert 533 500 L to kL.

533500L =10 - 10 + 10 = 533.5kL

Convert 0.000973 kL to mL

0.000973kL X 10X 10X 10X 10 X 10 X 10 = 973 mL
Convert 0.00319 L to mL.

0.00319L x10x10x 10 = 3.19mL

Convert 370000 mL to L

370000mL +-10+10+10=370L

Convert 0.03668 kL to L

0.03668 KL X 10 X 10 X 10 = 36.68 LL

Convert 2900 000 000 mL to kL

2900000000mL +-10+10+10+10+10 =10 = 2900 kL
Convert 8 820000 mL to L

8820000 mL = 10+10+10=8820L

Convert 0.03272 kL to mL

0.03272KkL X 10X 10 X 10 X 10 X 10 X 10 = 32720 mL
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Converting Between mL, L, and kL (G)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
< o 1 1 — — e
5 & o 5 8: i3 E E S z
B S Z =2 =i +o 8 E S S
: : ——————— : : > X
G M k h da 'd ¢ m [ n
9 8 7 6 5 4 3 2 1:0,-1 2 3 4 5 6 -7 -8 9
. Convert 0.07503 L to mL

Convert 74 400 000 mL to kL

Convert 399 000 L to kL.

Convert 5500000 mL to L

Convert 0.877 kL to L

Convert 9683000 mL to L

. Convert 3.71kL to L

Convert 68.48 L. to mL

Convert 0.00000093 kL. to mL

Convert 15100000 000 mL to kL
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Converting Between mL, L, and kL (G) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
5 2 e g8 8 13 2 2 S z
"Bh S Z =2 =i +o 8 E £ =
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1 E 0.-1 2 -3 4 -5 -6 -7 -8 -9
. Convert 0.07503 L to mL

0.07503L x10x 10 x 10 = 75.03mL

Convert 74400 000 mL to kL.

74400000mL -10+10+10+10+ 10+ 10 = 74.4KkL
Convert 399 000 L to kL

399000L =10 - 10 + 10 = 399KkL

Convert 5500000 mL to L

5500000mL - 10+ 10+ 10 =5500L

. Convert 0.877kL to L

0.877kL x 10X 10 X 10 = 877 L

Convert 9683000 mL to L

9683000mL +-10+10-+ 10 =9683L

Convert 3.71kL to L

3.71kL X 10X 10 X 10 = 3710 L

Convert 68.48 L to mL

68.48 L X 10X 10X 10 = 68480 mL

Convert 0.00000093 kL. to mL

0.00000093 kL X 10 X 10 X 10 X 10 X 10 X 10 = 0.93 mL

Convert 15100000 000 mL to kL
15100000000 ML -10=10=10=-10+-10+-10=15100KkL
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Converting Between mL, L, and kL (H)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

!5'_a_s_e
< o ¥ @]
5 0 e 8 §: i3 E 2 5 g
2 2 T 2 81 i3 8 % = S
: : —— — —» X
G M k h da rd ¢ m M n
9 8 7 6 5 4 3 2 1:0:i-1 2 3 4 -5 6 -7 8 9
. Convert 0.00718 kL to L
Convert 810000 mL to kL.
Convert 42200000mL to L
Convert 9600000 mL to L
Convert 420 L to kL

Convert 561.2 L to mL

Convert 45000 mL to L

Convert 0.00017 kL to mL

Convert 0.00061 kL to mL

Convert 34.26 KL to L
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Converting Between mL, L, and kL. (H) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

T giga
centi

+ milli

1 nano

> X

w = 1 kilo
N = 1 hecto
& = T micro

o Q

o
w B
o B

1
\]

. Convert 0.00718 kL to L

0.00718 kKL X 10 X 10 X 10 = 7.18 L

Convert 810 000 mL to kL

810000mL +-10+10+-10+10+10+10 = 0.81KkL
Convert 42200 000 mL to L

42200000mL +-10+10+10=42200L

Convert 9 600 000 mL to L

9600000 mL =~ 10-=10-+10 = 9600 L

Convert 420 L to kL

420L +-10+10+10 = 0.42kL

Convert 561.2 L to mL

561.2L X 10X 10 X% 10 = 561 200 mL

Convert 45000 mL to L

45000mL =-10+-10+10=45L

Convert 0.00017 kL to mL

0.00017kL X 10X 10X 10X 10X 10X 10 = 170 mL
Convert 0.00061 kL to mL

0.00061 kKL X 10 X 10 X 10 X 10 X 10 X 10 = 610 mL

Convert 34.26 KL to L
3426 KL X 10X 10x 10 = 34260 L
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Converting Between mL, L, and kL (I)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
< o 1 1 — — e
5 2 ° % 8 i3 E E S z
B S Z =2 =i +o 8 E S S
: : ——————— : : > X
G M k h da: !d ¢ m 2 n
9 8 7 6 5 4 3 2 1:+0:i-1 2 -3 4 -5 -6 -7 -8 -9
. Convert 890 L to kL.

Convert 1.962 L to mL

Convert 0.0096 L to mL

Convert 91 840 L to kL

Convert 66.9 L to mL

Convert 66 900 000 L to kL

Convert 0.0000053 kL. to mL

Convert 301 500 mL to L

Convert 1920000 mL to kL

Convert 0.00033 kL to mL
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Converting Between mL, L, and kL (I) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
S %0 2 8 8 13 £ = 5 z
"Bh S Z =2 =i +o 8 E £ =
: : : : — —t : : —p X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0.-1 2 3 4 -5 6 -7 -8 9
. Convert 890 L to kL

890L - 10+10+10 = 0.89kL
Convert 1.962 L to mL

1.962L X 10X 10X 10 = 1962 mL
Convert 0.0096 L to mL

0.0096 L X 10 X 10 X 10 = 9.6 mL
Convert 91 840 L to kL

91840L +-10+10+10 =91.84kL
Convert 66.9 L to mL

66.9L X 10X 10X 10 = 66 900 mL
Convert 66 900 000 L to kL.
66900000L - 10 =10+ 10 = 66900 kL
Convert 0.0000053 kL. to mL
0.0000053 kL X 10X 10X 10X 10X 10 X 10 = 5.3mL

Convert 301 500 mL to L

301500mL +-10+10=+10=301.5L

Convert 1920000 mL to kL

1920000mL -10+10+10+10+10+ 10 = 1.92kL
Convert 0.00033 kL to mL

0.00033kL X 10 X 10 X 10 X 10 X 10 X 10 = 330 mL
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Converting Between mL, L, and kL (J)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
: : e : : > X
G M k h da: *d ¢ m W n
9876543215-?-51-2345—6789
. Convert 3790 000 mL to kL.

Convert 1.271 kL to L

Convert 7350 mL to L

Convert 5870 L to kL.

Convert 0.00058 L to mL

Convert 0.098 L to mL

Convert 0.000323 kL to mL

Convert 42 000 000 mL to kL

Convert 3777000 mL to L

Convert 0.0213kL to L
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Converting Between mL, L, and kL (J) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
5 b 2 5 81 i3 § = 3 £
"Bh S Z =2 =i +o 8 E £ =
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 -3 4 -5 -6 -7 -8 -9
. Convert 3790 000 mL to kL

3790000mL ~-10+-10+10+10+ 10+ 10 = 3.79kL
Convert 1.271 kL to L

1.271kL X 10 X 10 X 10 = 1271 L

Convert 7350 mL to L

7350mL +10+10+10=7.35L

Convert 5870 L to kL.

5870L - 10 +-10 + 10 = 5.87kL

Convert 0.00058 L to mL

0.00058 L X 10 X 10 X 10 = 0.58 mL

Convert 0.098 L to mL

0.098L X 10X 10X 10 =98 mL

Convert 0.000323 kL to mL

0.000323kL X 10X 10X 10X 10 X 10 X 10 = 323 mL
Convert 42 000 000 mL to kL

42000000mL +-10+-10+-10+10+10+10 =42KkL
Convert 3777000 mL to L

3777000mL +-10+10-+10=3777L

Convert 0.0213KkL to L

0.0213kL x 10X 10 x 10 = 21.3L
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